
Algebra con XCAS 
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# 

EXPRESIÓN  
1 

 EXPRESIÓN  
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 Ejemplos  

 Trasformación  Trasformación    
1 (𝑥𝑚)𝑛 = 𝑥𝑚∗𝑛 

 

 

(23)4 =  23∗4 =  (212) = 4096 
 

(2+3)+2 =  2+3∗+2 =  (26) = 64 
 

(𝑎−3)−4 =  (𝑎−3∗−4) = 𝑎12 
 

(2𝑏)
𝑐

= 2𝑎∗𝑏 
 

((𝑎3)4)2 = a24 
 
Ejemplo paso a paso 

 

 

1.a [(𝑥𝑚)𝑛]𝑝 
 
De forma 
general 

= 𝑥𝑚∗𝑛∗𝑝 

1.1 (𝑥𝑛𝑚
) = (𝑥)𝑛𝑚

 Nota: (𝑥𝑚)𝑛 ≠ (𝑥𝑛𝑚
) 

 

 
 
 
 
 
 
 
 
 
 

(232
) =  2(32) =  29 = 512 

 
(𝑎23

) =  𝑎(23) = (𝑎8) 
 

(4𝑎𝑏
) =  4(𝑎𝑏) 

 



2 (𝑥 ∗ 𝑦)𝑚 =  (𝑥𝑚) ∗ (𝑦𝑚) 

 
 

 
 

(5 ∗ 2)3 =  (53 ∗ 23) = (125 ∗ 8) = 1000 
 

(𝑎 ∗ 𝑏)2 =  (𝑎2 ∗ 𝑏2) 

 

 


